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(sin) (cos) (tan)
52° 0.7880 0.6157 1.2799
53° 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
55° 0,8192 0.5736 1,4281

D 1.1932
@ 1.1935

@ 1.1933 @ 1.1934
® 1.1936



ot 194 AHLBC, /BAC = 90° A
A o, cosx +siny 9 g7

@
@

)
®

O = | W
Ul Co | 1



% o1 2 ZFAFZEE ABC oA sin A x
tan A 9] ZES Tatelat (2 0° < A < 90°
)

cos A =




9. sinA= g A o, cosA + tanA 9] FE-27 (T, 0° <A <90°)
5 12 23 31 39
3 @5 905 ©yx 9%



10. o2 1HA cosA = ? o]al,
AH =12, BH=4+V3 ¢ @], AC 2] Zo]=?
B
!
AL ¢



11.

ohS oA HA 4x -5y +20 = 07 x
59| go] FEo] o] f= 72 g2t & o,

tan6 9] Fr-27

N
[N




12, ohe % A7]o] 3] ta PAlR S8 AS T2 H?
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a3 sin z cos tan z
438° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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@ sind5° = cos45°
® tan35° < tand0°

© sin56° < cos56°
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@ c0s48° > cos 38°
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